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(1) OCr*+oNa,0,+00H b oCrO,*+0Na*+0H,0
(2) OCrL+oClL,+oKOH- b oK,Cr,0,4+0KI0,+0KCl+0H,0
(3) OP4#+0HNO;+0H,0Ob tH;PO,+5ENO t
(4) OZn+OH+ENO;y b 0Zn**+OINO+0H,0
(5) OHCIO4+0P+C0H,0b SHCI+5H;PO,
(6)2KMnO4+5KNO,+8 ( ) —2MnS0O,+5K,SO,+5KNO;+0H,0
(7> OMn**+0S,04*+0H,0D 0SO,*+0MnO,+0 ( )

(8) Zn+0OH*+ONO; P 0Zn**+0ONH,+0O ( )

(9) KMnO,+HCIP KCI1+MnCl,+Cl,+H,0

(10) Cu,S+HNOsD Cu(NO;),+S+NO+H,0

(11) KMnO,+H,C,0,+H,SO,b CO,+MnS0O,+K,SO,+H,0
(12) Fe(OH);+NaOH+Cl,D Na,FeO,+NaCl+H,O

(13) MnO,+I'+H'D Mn**+1,+H,0

(14) Cu(03),+KI+H,SOD b Cul,+L,+K,SO,+H,0

(15) Fe(CrO,),+Na,O,b b Na,CrO+Fe,0;+Na,O

(16) Fe;C+HNO; (&) ——Fe(NO;):+NO, 1+CO, t+H,0

(17) C7H3+KMHO4+H2804D b C7H602+KQSO4+MHSO4+H20



( 18) KI+KIO;+H,Sb b 1,+K,SO4+H,0

(19) KNO3+C+SD b KzS+COQ+N2
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41. A FeS YUE IR IEARA RETIFELIRAR HL,  UABIRER FeS £ P S8AL I, AWra HETUH
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42. WG BB CO RS, HAMR —KEBEME R, IETE—AHEASE 2en /NG H, FFHEL
CERY T, HRMABLCHE NBEO, AEENEAEE, REFH CO MKERE, ATk, C0R
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CuCl, HHIx— M 27 .
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1. 4FeC12+4Na202+6H20=4Fe (OH) 3 | +8NaC1+02 1

2. 10Fe0+2KMn04+18H2S04=5Fe2 (S04) 3+K2S04+2MnS04+18H20
3. 2FeC13+H2S=2FeC12+S | +2HC1

CuCl12+H2S=Cus$ | +2HC1

4. Mg (HC03) 2+2Ca (OH) 2=Mg (OH) 2 ¥ +2CaC03 | +2H20
5. NaOH+C02=NaHC03;

NaA102+C02+2H20=A1 (OH) 3 | +NaHC03

6. 4NaOH+A1 (NO3) 3=NaA102+3NaNO3+2H20

7. 2KNO3+3C+S=K2S+N2 1 +C02 1

8. C12+H20=H++HC10+C1-
9S02+Br2+2H20=4H++S042—+2Br—

10. 2H++S042—+Ba2++20H-=BaS04+2H20

11. 2HCO3—-+S02=C02+5032-+H20 (B HC03-+S02=C02+HS03-)
12. 6KOH+3S=2K25+K2503+3H20

13. Na25203+4C12+5H20=Na2S04+H2S04+8HC1

14. 4NH3+3022N2+6H20

15. 6NO2+8NH37N2+12H20; 6NO+4NH35N2+6H20

16. 2NaOH+H3P04=Na2HP04+2H20

17. Ca3 (P04) 2+2H2504=Ca (H2P04) 2+2CaS04

18. 2Na202+2C02=2N2C03+02

19. 2F2+2NaOH=2NaF+H20+0F2

20. S02+C12+2H20=H2S04+2HC1

21. IC1+H20=HI0+HC1

22. 2FeC13+2HI2FeC12+12+2HC1

23.

24. 4Cu0+2NHAC1=3Cu+CuC12+N2+4H2025. KC103+6HC1=KC1+3C12+3H20;
26. Ph2++H2S=S+2H+

27. Na25203+H2504=Na2504+S+S02+H20

28. 2H++2Fe2++H202=2Fe3++H20

29. A13++3NH3. H20=A1 (OH) 3+3NH4+

30. (1)

(2)

31.

32. 3.16.24.15.16.12

33. (D

@



Ox2+@)x T i}

34. 1,1,,1,2,1;

1,1,,1,2,1

35. 10, 22, 11—3, 19, 22, 1; 11, 22, 11—1, 21, 22, 4

(3a+2b)C12+ (6a+4b) AgF+ (3a+2b) H20==aAgC103+ (5a+4b) AgC1 + (6a-+4b) HF+b02
B AN NE Z I SEUR R o B AN B — 1 S S IEAS [F] L in A 7 — ik S 2T R A 2
3C12+6AgF+3H20==aAgC103+5AgCl +6HF; 2C12-+4AgF+2H20==4AgC1 +4HF +b02. ¥ 2>f# 3a+2b=11 [}

ERHR

36.

37. (D

(2)

(3)

38. 2H25+302=2502+2H204NH3+502=4N0+6H20
2H25+502=3S+2H204NH3+6NO=5N2+6H20

39. Cl2+2Br—=Br2+2Cl-
3Na2C03+3Br2=5NaBr+NaBr03+3C02
5NaBr+NaBr03+3H2504=Br2+3Na2504+3H20
C12+2Br—=Br2+2Cl1-

40. HgS+02==Hg+S02
12Hg+ 12NaCl +4KA1 (S04) 2+ 302==6Hg2C12+6Na2504 +2K2504 4241203

Hg +S==HgS H HIE XM N ML WM E BT R AMAEE 1, T M He K H AL & Wi AL 2 1 i

41. FeS+302+3H20=Fe203+4S+2Fe (OH) 3
42. (1) CO+PAC12. 2H20=Pd+C02+2HC1+H20
(2) Pd+2CuC12. 2H20=2CuC1+PdC12. 2H20
(3) 4CuC1+4HC1+H20+02=4

o



